[image: image1.jpg]DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
P Guidelines for the Candidate Time: 1h

Total Questior

1. Addtonal 10 (Ten) minutes il begivento th stdents to i upthe sudets'information eforshe startof e e¥am.
2. Thepaperconsistsottea sections—

Mental Abidy (15 Questons), Logeal and Anayical Reasoning (15 Questons) and Computers and Informatien
Technology (20 Questons)

Atquestions are compuisoryand carry oqual marks Thereis ngnogatve markig, Use of cacultor s not perited,
Wito your Name, Rof No. and Cass clearyonthe Answer Sheet and donotforget 0 5gn

Theroiscalyone crrect answer ence mark one hice oy,

Darken your choicawin HB Poncilo Biue/Black BallPointPen. ForExomple

ate: sbitscqua)
) tbe (81K (©1M8  (©) 168 X RORCXCY
AsthecorectanswerisoptonNo, A). thecandidte shoukddatenthocice @)
7. Roughwork snouid be doninthe biank spsce provded i the booket.
8. Retun the answer sheet 1o the invgiator atthe ond of the exam The queston paper can be retained by the

B

()
SCIENCE OLYMPIAD FOUNDATION

e o i o o S ot D 1052wt it 3 vnbte s st
Participate in Asia’s Biggest Olympiads

Your Roll No.

Natonsi Scienco Ohmpid

19" November 2010 2" December 2010 29" January 2011

Contact your Olympiad Incharge Toachor / Principal Today

sl Ushemates Oyep I Enyis Oy




[image: image2.jpg]R ——— T

Class 9 10°NCO e

MENTAL ABILITY.

A
and xy = b, then the value of 5 *5 is equal to -

1oMxe
® a*-3a0 ®) (a*-3ab)b*
(© a*+3abip® © a°+3ab

2. IfA=35and B=23, then the value of (A + B) x (A - B) is —

" s ® 1238
© 48 © 6%
The vatue of 10002 g

B (100> ® xne
(©) x*I10 ©) 10

4 10522 [T g o valuo of x.

*) 68 | 62
© s8 © 52

5. Which one of the following is true?
(@) (a+bp=a+ b+ 30+ 3abF (@) (@-b)

~ b7 - 307 - 3(abP

(© (a-bP=a+ b+ 3abla-b) © (a+ by =@+ b3 + dabla + b)
&1 the perimeter of a thombus Is 4a and lengths of the diagonals are x and y then its arca is ~
®) alx+y) ® xzey?
1
© » © v

7. Anathietic track 14 m wide consists of two straight
inner diameter in 3.5 m.

ctions 130 m long joining semicircular ends wh

/////mmm”um,, D)
The area of shaded region s
@ 551404m? ®) 5566.04m?

© s13440m* (©) None of these:

5. In the adjoining figure

LA+ ZB+ LC+ LD+ ZE + ZF s equal to —
® 3800 ® 7200
© 180 © 300
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6. Rani purchased six yoars National Saving Certficates for Rs. 1000. Aftersix years she gets Rs. 2015, The
rate of interest, I the Interest Is compoundly half yearly is —
" 13% ® 1%
© 12% (©) None of these

2
10 The fraction equivalent to % is ~

® 140 ® 1125
© 1250 ® 11500

s
1. e rons cde 624 amang tnomaaves it e < 3 : 1. Theshar ofthe thic end s

(&) Rs.288 ® Rsis2
© Rs148 © Rsies

12. Two circlos touch each other extornally at Cand AB |
adjolning figure, then

common tangent to the circles as shown in the

Ar e
w sz o @ 2A%85 s
@ Zcs < ® Ade 12
18
in val —= 5= =
12, Findth vaue of g~ 75 1 8 =223 and 0 3162
@ osse ® s
© s © Nonootrese

14, The three consecutive numbers such that sum of twice the first, thrice the second and four times the third

makes 146, Is -
® 13,1415 ® 1n121
© 12,1314 © 15,1617
15, pxt+ (4p? - 3q)x~ 12pq =
®) (px+30)x +4p) ® (ox+30)x-4p)
© (px-3a)x+4p) © (px-30)x=4p)

LOGICAL AND ANALYTICAL REASONIN

16. Count the number of squares in the given
® 2
© 15

7. 1 the word BANGALORE is written as CBOHBMPSF in a code, then CHANDIGARH is writton in that code
() DEBOEFHBSJ (B) DIBOEJHBSI
(€) HRAGIDNAHC (© DIGBSHOBIB
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Which one would be a meaningful order of the following?

() windows @ walls @ floor @ foundation
(5 roof (6) room
® 421,536 ® 43,5621
© 453216 © Noneof these
15, Four trom the following five make a similar group. Find the odd one out.
® Swan ® Crocodie
© Tode © Chick
20, Which mumbor when placed at the sign of Intorrogation shall complete tho seris?
840, 168, 42, 14,7, 7
® 12 ® @
©7 o 1
21, ‘Chapter1s related 1o 'booK'in the same way as ‘brick s related to
@ Heap ® Buiding
© Clay (@ Mason
22, Which number can be placed at the sign of interrogation? B
Wog oy
w7
® ® 20
© 24 o 32
35, W tomerrow of yestorday 1s Wodnesday, then what would be day after tomorrow of yesterday?
(8) Wednesday (B) Thursday
© Frday © Noneofthese
24, Which number when placed at the sign of Interrogation will comploto the series
20,19, 17,7, 10,5
@ 12 ® 14
© 13 © 15
25, Whioh setof ltters when placed sequentlally on tho blanks shall complete the series?
ba cb_b__bib_?
@ acb ® b
(€) cabb (D) bacc
26, Which figura Is related to figure I n the samo way as figure Il is related to figure 12
e
=5
5=
W
& 8=
[} AE'B ® =5
© J]T o Bg
27, Which pai is elated to cach other In the same way as ‘State and Exlle'?
(&) Police : Arrest (8) Church : Excommunicate

(© Consttution : Amendment (©) None of these.
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28. Which figure can be formed from the given plecos?

)
A&

<
I A7)
oD o

o e

25, There are five houses from A to Ein a row. Als to the right of B, Els to the left of C.and at the right
of A. Bis to the right of D. Which house is just in the middic?
w 8 ® A
© o © E

30. Choose the correct expression from the following :
(W) 9+9-9+9=9+9-9+9 @) 9-9x9+9=9.0+0x9
(© 9-9%9+9=9-9x9-9 (©) None of these.

COMPUTERS AND INFORMATION TECHNOLOGY.

31, To change colour of text (sslocted)in MS-Powerpoint
() teft-click on [A] icon - dosired colour
@ format menu —» font — colour —» desired colour - ok

(@ left click on (] icon —» desired colour

w 182 ® 283
© 183 (©) Al of these
32. Which one of the following cannot be 3-D chart?
(&) Aveachart ® Bar chart
(©) Columnchar © Linechart
33. Find the odd term out.
®) Fopro ®) Orade
(© Ms-Excel © s
34, The electrically erasabl read only memory that can be programmed through use of special electrical
pulses is
®) ROM ®) EEPROM
(© EPROM © PROM
35. First generation computers were characterised by
(&) Vaccum tubes and magnetic drum  (B) Minicomputers.
(©) Magneic tape and transistors ©) Al of these.
35. Param doveloped by C-DAC, India is
(&) Mirocomputer (®) Minicomputer
(©)_Mainframe computer ©) Supercomputer

37. RAID stands for
(A) RadioFrequency Implication dentfication (8) RedundantAmplifer dentifcation
(©) RedundantArray of Inexpensive Disks _ (0) Al of these
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38 Altavista, Google and Info seek are some examplos of
(A) Web browsers ® HITP.
(©)_Search Engines © UR
39. Who is regarded as the Father of computers?
(&) Abacus (®) John Napier
(©)_Pascal (©)_Charles Babbage.
40, The “word wrap® optlon Is in which menu?
@) Fie ® Edit
(©)_Search © Help
41, In Excel, function SUMIF (A1 : A4, “>100%, B1 : B4) here ">100" signifies —
(A) Adds collspecified by given criteria  (B) Add only those cells more than 100
(©) Add cell in which a1 to a4 cell value is more than 100
(@ _Both (A) & (©)
42, In Excel function EVEN (5.5) return —
® 5 ® 6
© 4 © 3
43, What is shorteut for UNDO 2
@ Cui+Z ® Cti+Y
© cul+C © Cul+V.
44, Aligning the text as it wraps the contents from left to right —
(&) Center ® Justily 2
© teft © Right
45, Inter networking 100l to connect two dissimilar networks = - 1
(&) Bridges (B) Routers
(©) Gateways (©) None of these. 3
46. Inter networking tools to connect two similar notworks
(A Bridges (8) Routers
(©) Gateways ©) Noneof these
7. Inter networking tool to connect two wide area networks -
(@) Bridges ® Routers
(© Gateways (0) Noneof these.
48. Examples of connection oriental & connection less protocol are —
(&) TCP/IP & UDP (8) UDP & TCPIIP
© TCPIP&FTP (©) TCP/P&HTTP
49. Data sequoncing means to -
(&) Breaking of a long message into smaller packets
(B) Breaking of a long message into smaller packets of fixed size
(C) To find most efficient path biw source & destination
(D) Rules to define the group of bitsicharacters.
50. Communication link can be established through -

(&) Coaxial cavle (® Opticalfivers
(© Satelite (© Alofthese





